G: SAMPLE REVISION QUESTIONS
The figure below shows the behaviour of emissions by a radioactive isotope x. Use it to answer the question follow
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(a) Explain why isotope X emits radiations. 

(1mk) 

(b) Name the radiation labeled T 

 
(1mk)
(c) Arrange the radiations labeled P and T in the increasing order of ability to be deflected by an electric filed. 
(1mk)
 a) Calculate the mass and atomic numbers of element B formed after 21280 X has emitted three beta particles, one gamma ray and two alpha particles.

b)Write a balanced nuclear equations for the decay of  21280 X to B using the information in (a) above.

Identify the type of radiation emitted from the following nuclear equations.

 (i)       146 C 
       
->     147N 
 + ………

(ii) 11 H    +   10 n       ->      21H 
  + ……
(iii)     23592 U  
           ->       9542Mo      +  13957La  +  10 n  +……
(iv) 23892 U     
           ->     23490Th  
   + … …
(v) 146 C 
 +       11 H         ->           157N 
      +     ……
